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~ Part One
College English Band 6 Practice Tests

Practice Test 1
iE— PAPER 1
Part I Listening Comprehension (20 minutes)

Section A

Directions; In this section, you will hear 10 short conversations. At the end of
each conversation, a question will be asked about what was said. The conversa-

tion and question will be spoken only once. After each question there will be a
pause. During the pause, you must read the four suggested answers marked A),

B) , C) and D), and decide which is the best answer. Then mark the corre-

sponding letter on the Answer Sheet with a single line through the centre.

1. A) He’s upset because he has cut himself.
B) He can’t face the physics instructor any longer.
C) He wants the woman to cut out science courses.
D). He doesn’t have the ability to be a scientist.
2. A) She should be careful about her money.
B) She should buy the brown suit.
C) She should find another job to make more money.
D) She shouldn’t buy the brown suit.
3. A) One hour.
B) Two hours.
C) Three hours.
D)\ Four hours:.
4. A) He has hurt his hand.
B) He can’t fix it.
C) Heis very busy at the moment.
D) He wants the woman to give him a hand.
5. A) It’s raining.
B) She doesn’t like playing tennis.
Q) She doesn’t want to get sunburned.




_P) It’s a hot day.
5. A,) An automobile mechanic.
'B) A plumber.
C) A doctor.
D) A hair stylist.
7. A) To areal estate agency.
B) To a car rental agency.
é) To a computer store.
D) To alibrary.
8. A) She has no need to buy a new car.
B) She doesn’t have enough money to buy a new car.
C) She is trying every means to buy a new car.
D) She prefers her old car.
9. A) Disappointed.
B) Grateful.
b C) Apologetic.
e S D) Angry.
| 10. A) Three years ago.
B) This year.
C) Last year.
D) In December.

Section B
Directions: In this section, you will hear 3 short passages. At the end of each pas-

E sage, you will hear some questions. Both the passage and the questions will be
spoken only once. After you hear one question, you must choose the best answer /

| from the four choices marked A), B), C) and D). Then mark the corresponding
l letter on the Answer Sheet with a single line through the centre.

Passage I
Questions 11 to 14 are based on the passage you have just heard.

11. A) Power.
B) Academic degree.
C) Wealth.
D) Diligence.
' 12. A) The change of life-style.
B) The change of the nature of occupations.
C) The increase of social wealth.
B e
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D) The increase of job opportunities.
13. A) Politicians.

B) Clerks.

C) Manual workers.

D) Lawyers.
14. A) Farm workers.

B) White-collar workers.

C) Blue-collar workers.

D) Not mentioned.

Passage 11
Questions 15 to 17 are based on the passage you have just heard.

15. A) In the later 1920s.
B) In the mid-1950s.
C) In the 1970s.
D) In the mid-1980s.
16. A) It will act as a computer as well.

B) It will do away with stereo equipment.
C) It will provide a better picture.
D) It will replace transistors.
17. A) There have been three major changes in TV technology since 1927.
B) Basic TV technology nowadays is quite different from that of the first TV set.
C) Digital TV sets incorporate computer technology.
D) Digital TV sets are already on sale in many developed countries.

Passage HI
Questions 17 to 20 are based on the passage you have just heard.

18. A) All summer.
' B) A week.
C) Overnight.
D) One day, morning and night.

19. A) To make several knots in a given time.

» B) To plot the course.
C) To make a.tidé% table.
D) All of the above.
20. A) They went to church.
B) They went swimming and hiking.
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) They had lessons in religion and ancient history.
D) They had lessons in ancient history and navigation. .

II Reading Comprehension (35 minutes) |

Dlrectlons There are 4 passages in this part. Each passage is followed by some
questlons or unfinished statements. For each of them there are four choices
marked A), B), C)and D). You should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

Questions 21 to 25 are based on the following passage:

What difference does it make if we read texts displayed on a computer screen instead of
on paper printed with ink? The computer certainly does not guarantee deeper comprehen-
sion, greater subtlety of mind, or a wider range of imaginative reference. The mediation (
4t) of a computershowever, put new powers at the disposal of intelligence. For one thing, the
computer itself can do simple reading—as I have noted, it can “read” an jmmense body of lit-
erature in search of designated words. As anyone knows who has ever SW
in search of errant information, simply identifying relevant sources absorbs morduliate
amounts of time in research. The objection may be raised that a search of texts by computer
may block the serendipitous ({B#4& BLHY) discoveries that occur while browsing in the stacks
of great libraries. No member of the academy need fear that the use of a computer will keep

him from the stacks, but browsing is, if anything, easier if texts can be called up on a screen in
the serenity of one s chosen surroundlngs !
libraries have no master indexes of the contents of books. Individual volumes, it is true, have
indexes, often of inferior quality, but even the best indexes must be examined one at a time.
The great advantage of the electronic library is that a computr could search and analyze its
contents without proceeding volume by volume. As work in artificial intelligence develops,
computer systems may also become adept at more complex tasks, such as wﬁzing texts,
which has been accomplished experimentally.
21! What does the writer mainly talk about in this passage?
‘ A) The deficiencies of the library in providing information.
]5) The different applications of the computer and the library.
_C;) The advantages and disadvantages of the computer and library.

D) The advantages of the computer in search of information.

22, In the expression “an immense body of literature” (Para. 1), the word “literature” is near-

est in meaning to
A) specific information for a research
s 4 o



. /' B) printed material in general

" BV li) fiction written by famous writers

. 23. The writer believes that reading by the computer is advisable chiefly because
_A) itsavesalot of time to find information needed

/_,\ \ ___2 it reads more efficiently than a human mind
C) it covers a much wider range of reference

C) words that are designated

D) it guarantees reading efficiency and validity
24. According to the context, the “simple reading” done by the computer mostly refers to

£

\ /A) reading in search of intended information only
R0 B) looking for unexpected information only

m C) reading to locate texts to be used in teaching

D) reading to set up superior master indexes

‘ 25. The writer’s attitude towards the use of a computer can be best described as

iy A) conservative ! C) uncertain
ﬁ;) : _B_) subjective ‘Q) favorable
1} Questions 26 to 30 are based on the following passage:

With human footprints on the moon, radio telescopes lxstenmg for messages from alien
creatures (who may or may not exist) , technicians looking for celestral and planetary sources
of energy to support our civilization, orbiting telescopes’ data hmtmg at ‘planetary systems
around other stars, and political groups trying to figure out how to save humanity from nu-
clear warfare that would damage life and climate on a planet-wxde scale, an astronomy book
' published today enters a world different from the one that greeted books a 'generation ago.
Astronomy has broadened to mvolve our bas1c circumstances and our mysterious future in
the universe. With ;egb&ses and space mrssrons broadcast live, and with NASA, Europe, and
the USSR planning and bunldmg permanent space stations, astronomy offers adventure for all
people, an outward exploratory1hrust that, m%y one day be seen as an alternative to mindless
ﬂc@\gttndlensm, 1deologtcal blckenng (%), and wars to control dwmdhng resources on a

losed,ﬁmte Earth ‘.1‘ "jj’ : ;

Today s astronomy stndents not only seek an up-to-date summary of astronomical facts:
they ask, as people have asked for ages, about our basic relations to the rest of the universe.
They may study astronomy partly to seek points of contact between science and other human
endeavors: philosophy, history, politics, environmental action, even the arts and religion.

Science fiction writers and special effects artists on recent films help today’s students real-
ize that unseen worlds of space are real places —not a\bﬁt_@g_t, concepts. Today’s students m_ :
citizens of a more real, more vast cosmos than conceptuahzed by students of a decade ago. iy

In designing this edition, the Wadsworh editors and I have tried to respond to w‘
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2 k) SN ,{'» -
elopments. Rather than jumping at the start into murky waters of @,sin_olxogy, I have begun
- with the viewpoint of ancient people on earth and worked outward across the universe. This
. method of organization automatically (if loosely) reflects the order of humanity’s discoveries
~ about astronomy and provides a unifying theme of increasing distance and scale.

| 26. This passage is most probably taken from
%\J A) an article of popular science

B) the introduction of a book of astronomy
g/ C) alecture given by the author to astronomy students
D) the preface of a piece of science fiction

‘ 27. The author’s purpose in presenting the first paragraph is ] 4

A) to explain the background and new features of today’s astronomy
*B) to discuss in detail the most recent achievements in space research
gy{ p) to introduce some newly established space stations

-, D) toillustrate that the world today is different in many aspects from that of a genera-
~ tion ago

. The author thinks that the growing interest in space exploration among people on Earth
will probably lead to L a

A) all people having chances of travelling in space

B) the realization of permanent settlement on other planets

'\ €) more disturbance not only on Earth but also in outer space

" D) order, harmony and peace on our planet earth

- The author believes that today’s astronomy students

i) are much brighter than students of a generation ago

B) no longer care about astronomical facts

Q are better-informed about the unseen worlds of space

D) may learn more about man and his search in various fields through the study of as-
5 tronomy

. In the last paragraph, the expression “these developments” refers to all of the following
EXCEPT

A) the development of science fiction and special effects of films -

B) the new concepts about the universe acquired by today’s astronomy students
C) the world-wide involvement in space exploration

_D) humanity’s new achievements in the field of astronomy

Questions 31 to 35 are based on the following passage$

The role of manager is another critical component in the development of an ofﬁce-system
career. One study reported that in 76 percent of the orgamzatlons sihi'vezed _s_l_lw were
involved in career development. Because of daily contact with employees and personal contact

W\\h other managers, the manager can g@,t office- systems employees in their career devel-
°§ o



e —

A
opment in many ways. Managers can delegate their subo;dmates assxgnments which promote
growth. In addition, managers can provide realistic assessments of their subordinates’ career

e & K

potential. Such feedback can take the form of coaching employees to strengthen any personal

or professional weaknesses.

PN

Some managers might become mentors-to their subordinates, thus 1mprovmg theu'

chances for career success. A mentor usually is a superior or experlenced peer thhm ‘the em-
ployee s, orgamzatlon The mentor assumes a professional interest in another’s career and acts

in an adwsory capacny to that individual. Generally a mentor arranges for the employee to

meet the “right people”and to make the “right moves, ” thus helping the employee to acquire
recognition of and acceptance by the managerial network. However, even when managers

show an interest in their subordinates’ careers, problems can occur.

Some managers might lack sufficient power within their organizations to be successful

mentors or might be reluctant to become a meptor for an aspiring (4 # 1#y) female employ-
ee because of the possibility of office gossnp "Other managers might resist the mentor role be-

cause managers may not be rewarded by their organizations for engaging in career develop-

ment activities for their subordmates

Other dilemmas for both»manager and subordinate could arise when the career develop-

ment process is linked to the manager’s task of performance appra1sal The career develop-
ment process is not as effective when it is tied to employee assessment for job promotions and

salary increase. Most employees would be reluctant to risk revealing any career inadequacies

or doubts to their evaluators. Therefore, employees should take charge of their own career

development.

31.

32.

34.

According to the passage, managers play an important part in the development of an of-

fice-systems career because

* A). 76 percent of managers are involved in career development

B) they keep daily contact with their employees

C) they can help employees in their career development in many ways

D) they can make correct judgment of their employees’ abilities

The word “delegate”(Para.1) most probably means

A) become the repres'g‘nta ive of : .

B) put somebody in charge of )

C) give a fair opinion of

D) make full use of : Pt .

. Which of the following statements is NOT true about a mentor?

A) Itis only the manager that can play the role of a mentor.
B) The main function of a mentor is to imr1€8; employees’ chances for career success.

C) A mentor gives advice to the emp’ e to time.
D) A mentor usually introduces an ¢ employee to the management. \
All of the following may be the reabour’s radio;it | agers do not want to be mentors to

oidff] o



their subordinates EXCEPT that

A) their power within their organizations is, more or less, limited >
B) their work as a mentor may not be duly appreciated

C) they try, in some cases, to avoid unnecessary office gossip \

D) they are unwilling to reveal their career inadequacies or doubts to their subordinates
. According to the author, the chief reason why most employees are not active in the career
development programme is that

A) they do not want to make known any of their weaknesses
B) they think it their own responsibility to take care of their own career development
C) their mentors tend to have unfair evaluations of their performance

D) revealing weaknesses might affect their chances of job promotions and salary in-
creases

Questions 36 to 40 are based on the following passage:

Much new knowledge i is admxttedly remote from the immediate interests of the ordinary
man in the street. He is not mtrlgued or impressed by the fact that a noble gas ({§#:5#k) like
xenon (i) can form compounds—something that until recently most chemists §wore was im-
possible. While even this knowledge may have an impact on him when it is embodied in new
technology, until then, he can afford to ignore it. A good bit of new knowledge, on the other
hand, is directly related to his immediate concerns, his job, his politics, his family life, even his
sexual behavior.

A poxgnant example is the dilemma that parents find themselves in today as a conse-
quence of successive radical changes in the image of the child in society and in our theories of
childrearing. :

At the turn of the century in the United States, for example, the dominant theory re-
flected the prevallmg scientific belief i in the importance ‘of heredity in determining behavior.
Mothers who had never heard of Datwin or Spencqr raised their babies in ways consistent
with the world views of these thinkers. Vulgarlzed ‘and simplified, passed from person to per-
son, these world views were reflected in the convxctxon of millions of ordinary people that
“bad children are a.result of bad stock, ” that “crime is hereditary, ” etc.

In the early decades of the century, these attitudes fell back before the advance of
environmentalism. The belief that environment shapes personality, and that the early years
are"the most important, created a new image of the child. The work of Watson and Pavlov
beganxt eep into the public ken (%1iH).Mothers reflected the new behaviorism, refusing to
feed inf::t%p demand, refusing to pick them up when they cried, weaning (Wi §3) early to
avoid pro]ongmﬁémndency. sCon

A study by Martha Waléhsteiy’ Percent of tn¢ the advice offered parents in seven succes-
sive editions of INFANT C4R E, a ‘use of daily contaby the United States Children’s Bureau
between 1914 and 1951, She foung “an assist office-syshe preferred methods for dealing with



‘weaning and thumbsucklng It 1§ clear from thls study that by the late thirties still another im- F
age of the child had gained ascendancy Freudian concepts swept in like a wave and revolu-

tionized chlldreanng practlces Suddenly mothers began to hear about “the rights of infants” & -
36. The passage tells us that any new knowledge will have a powerful influence on ordinary
O peopleif
A) it is simple and understandable
B) itis advocated by eminent persons
g C) it has been put into practice and proven true
\J D) it has something to do with their immediate concerns
37. The prevailing scientific belief at the turn of the century was that
A) personality was shaped by environment
1/ B) character was transmitted from parents
C) behaviour was determined by social background
D) outlook was coloured by prevailing beliefs

tended to be

A) critical of prolonged maternal care of the infants N\
‘;;) \,B) tolerant of their babies’ thumb -sucking habits

C) aware of the importance of weaning infants early »

‘ 38. It can be inferred from the passage that mothers who were influenced by Freudian ideas

° D) tired of picking their babies up the minute they cried
39. The author’s attitude towards the world views is basically

.If “<A) humorous C) positive
a " B) negative = — D) tolerant
2 '40. The best title for this passage is :

A) Shift in Childrearing Patterns

B) Revolution in Childrearing Practices

“.C) Freudian Theories and Childrearing
\> D) Penetration of New Knowledge

Part III Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence
there are four choices marked A) , B), C) and D). Choose the ONE that best
completes the sentence. Then mark the corresponding letter on the Answer Sheet
with a single line through the centre.

R 41. Icannot bear the noise of my neighbour’s radio; it : me from my work.
N\



C) interferes

D) interrupts
as quite upset this afternoon. She wasinno  for their brainless gossip.
P C) taste
g D) appetite
Kﬁ I'cannot__ the two points of view because they are completely different from each *
other. ; 4
A) claim C) argue
\jBﬂ identify ' D)) D)) reconcile i) A
44 The design of this gymnasium shows a great deal of . We have never seen a build-
ing of such a type before. %
A) w 6{}:}; i .C) ‘invention L
(@riginality 153 solidarity ; iy
45. In__ times men did not travel for pleasure but to find more favorable climate.
A) /prime C) primary
B ), preliminary @ ) primitive ‘
46. foe novelty of playing electronic games soon gt faaand then Jenny did not want to do !f
@kjied away L3
B)Mcame off D) went away

47. In an automobile engine, the vaporized fuel is mixed with air, compressed in the cylinder,
and by a spark.

A) blazed 4 (C? bsuited. .. 8 0 i
B) flamed exploded !
48. One of society’s greatest problems has always been how much the state should sl T M |
will on the individual.
A)/induce %)/ -Lf 2 C) endow ¢
gg/_)/)impose D) enforce
(/ 49. If the policeman hadn’t been friendly, we wouldn

A) let go

o wo el

N
B

ave been with a warning.

) let out

B) let alone

C) vocations
D) callings
about our luggage and seemed to be in a thoroughly bad temper.
C) grieved f(‘{,'.: v
v&ni %% D) growled !
v& 52. If nothing is done to protect the environment, one million species that are alive today will
C

have become

*10 -



A) distinct 'kfl’ m. f45. ‘ Q );" xtinct yﬁ L 5 o an het \)
B) distinguished Q'¢/) . D) extinguished YL - ol
Q 33 Edward prefers to travel by bus because he can wait for it at the near his home.
% A e/ntrance b 14 C) platform 1 4
u terminal 4}]?} D) subway 20
i o i
6 54. My coat hem is coming u#tltched and two buttons have 3
% A) comelost 7. C)’ come losing Nii#
v o . \
B) Jcome loose. ﬁ(?ﬁ come loosen \
P 55. The psychiatrist says that a person with i#eriority feelings can bei very
- A) disgraceful \ C)/ disrespectful %

B) disapproval 1 C disagreeable
) 56. T e hguse are made of wood, mud and straw, and . to collapse in heavy storm.
jable &) fecble . Al 4 f
B)/avmdable D) probable ]
ﬁ 57. The Secretary of State to being astonished at this unexpected statement.
% ; A) complied ok . Q‘) Al C) confirmed
‘ onfessed D) conformed %Ak Al '

5 58. With its expen ixve furmture and carefully-chosen color scheme, the hvmg- room looked .

s,
.. ™

quite

T

,A) convenient C) comfortable s
' 4
B) prominent %‘? W @) luxurious
———*—\
59. )Uﬁs born has to die—that’s a law of nature 1ndependent man’s will.
B) to - D) from
60. It is commonly believed that poetry inevitably loses a'lot translation.
C %k, - 4
A) of 9%
B) over . by
B 61. China has never been a seapower, because nothmg has ever mduced ‘her people to be
than landmen: ;
an
il , 4 wne vtheY Wh.
D A) rather v ' @7 better e A ﬂ&

B) another § A /\D?So’therwise

6 62. When the doctor proposed to him long walks in the fresh air, Mr. Park admitted

/for a long walk for years. .
A) not bemg , : \

@xot having been / &
, D 63. Just imagine, if all goes we{l, b'y Christmas we-
months: NI
A) are living \
B) will live . D)/ will have been living

ng not
aving not been
in the new house for almost two
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(/ 64. Fed up with violent street crime, they are often content to send in the police force and

A) having recorded C) to record
\Q) being recorded D) to be recorded
Ib\ 66. Only after many years of hard work that rgoney alone does not lead to happi- .
ness and success.
/ )/did I realize C) had I realized
B) Idid realize D) I had realized

demand that it whatever it is necessry while they look the other way.
A) would do Ly

o

o
B) must do D‘));ioes

65. With every transaction we perform electronically, we could leave ourselves open

\_
to electronic monitoring or control by government.

D 67. I heat a beaker of water gently over a Bunsen burner. The temperature rises steadily

A68

69.

70.
R

it reaches 100 ° C.
A) except when

/unless
B) except that until ;
The father, who was llhterate, said to his son that e was dog to learn new tricks.
Q)j}{oo old a C) atoo old ‘
B) soolda \D) a so old \

Agriculture was a step in human progress subsequently there was nothing com-
parable until our own machine age. ‘

A) with which y @to which 56 o

B) from which DJ in which

Very soon, swallows will be flying south to warmer lands, where they will find
small flying insects on which they feed.

A) a great number of [ C)\ ) plenty of
\y a great deal of 2 numerous




